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GENERAL APTITUDE

10.

11.

12.

13.

14.

15.

16.

How does light normally travel?
A) In concentric circles B) In a straight line
C) Always towards a dark area D) In a curved line

First Country to undergo industrial revolution:
A) France B) Britain C) Germany D) USA

A solar water heater can not be used to get hot water on
A) A sunny day B) A cloudy day C) A hot day D) A windy day

In India, the first cotton mill was set up in
A) Madras B) Bombay C) Kanpur D) Surat

Regur soil is the other name of
A) Black soil B) Alluvial soil C) Arid soil D) Laterite soil

The different group of stars is known as
A) Constellations B) Celestial bodies C) Asteroids D) Comet

Which country has two-party system?
A) India B) Sri Lanka C) United Kingdom D) Nepal

Which of the following is a macro nutrient?
A) Mn B) Mg C) Cu D) Zn

The process of evaporation causes
A) Cooling B) Heating C) Dryness D) None of these

Place directly above focus on Earth’s surface is known as
A) Strike B) Comma C) Epicenter D) Origin

HCF of 84 & 270 is
A) 8 B) 6 C)4 D)2

The sum of first five multiples of 3 is:
A) 45 B) 65 C) 75 D) 90

7:12 isequivalent to:
A) 28 :40 B)42:71 C)72:42 D)42:72

Find the simple interest on the Rs. 2000 at 25/4% per annum for the period from 4™ Feb 2005 to 18" April 2005
A) Rs. 35 B) Rs. 30 C) Rs. 25 D) Rs. 40

The average of 20 numbers is Zero. Of them, at the most, how many may be greater than zero?
A)0 B) 1 C) 10 D) 19

An athlete runs 200 meters in 24 seconds. His speed is?
A) 10 km/hr B) 17 km/hr C) 27 km/hr D) 30 km/hr
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17. Every rational number is
A) A natural number B) An integer C) A real number D) A whole number

18. What decimal of an hour is a second?

A) .0025 B) .0256 C) .00027 D) .000126
19.  Afruit seller had some apples. He sells 40% apples and still has 420 apples. Originally, he had how many ?
A) 588 apples B) 600 apples C) 672 apples D) 700 apples
20. A does awork in 10 days and B does the same work in 15 days. In how many days they will do the same work
together?
A) 5 days B) 6 days C) 7 days D) 8 days

DOMAIN KNOWLEDGE

21. What happens when the distance between flange and cylinder block is varied?
A) piston displacement cannot be varied B) variable flow rate of fluid can be achieved
C) fixed flow rate can be achieved D) all of the above

22. Cam lobe hydraulic motor is a type of
A) axial hydraulic motor ~ B) orbit hydraulic motor ~ C) gear hydraulic motor D) radial hydraulic motor

23. When does holding piston keep the angle between yoke and cylinder block maximum?
A) when set pressure is greater than load pressure B) when set pressure is less than load pressure
C) when set pressure and load pressure are same D) all of the above

24.  Low-torque high-speed motors are used in
A) cranes B) winches C) fans D) all of the above

25. How is the arrangement of pistons in piston pumps?
A) axially B) radially C) both (A) and (B) D) none of the above

26. Inwhich of these pumps, swash plate is replaced by cylinder block?
A) bent axis piston pump  B) radial piston pump C) axial piston pump D) none of the above

27. Which is NOT the use of a try square?

A) Measuring right angle B) Checking squareness

C) Marking straight lines at 900 against an edge D) Setting work piece at 900
28.  Which of the following is a direct measuring tool?

A) Try square B) Steel rule C) Straight edge D) Ring gauge
29. What will be the discharge of oil in axial piston pump, when the angle of swash plate is zero?

A) discharge of oil is maximum B) discharge of oil is minimum

C) there is no discharge of oil D) none of the above

30. Try square is used to check up an angle of
A) 30° B) 45° C) 60° D) 90°
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31.

32.

33.

34.

35.

36.

37.

38.

39.

40.

41.

42.

43.

44,

Which factors are considered while designing a axial piston pump? =

A) use of swash plate B) application in open loop or closed loop circuit
C) design of bent axis piston pump D) all of the above

Calculate area of a pipe if, flow rate is 20 I/min and flow velocity is 5 cm/s.

A) 66.66 cm? B) 60 cm? C) 62 cm? D) none of the above
The least count of metric micrometer is

A) 0.01 mm B) 0.05 mm C) 0.10 mm D) 0.50 mm

An outside micrometer has a negative error. The correct reading can be taken by

A) Adding the negative error in the actual reading

B) Deducting the negative error from the actual reading

C) Adding twice the negative error in the actual reading

D) Deducting twice the negative error from the actual reading

What is the zero reading of a 50 - 75 mm outside micrometer?

A) 0.00 mm B) 0.01 mm C) 25.00 mm D) 50.00 mm
Which one of the following instruments is used to check the concentricity of the outside diameter?

A) Vernier caliper B) Outside micrometer C) Dial test indicator D) Dial caliper
The minimum measurement that can be correctly read with a vernier caliper is called

A) Zero reading B) Least count

C) Main scale reading D) Actual reading minus zero error

Metric outside micrometer has a threaded spindle with a pitch of

A) 0.5 mm B) 0.25 mm C) 1.00 mm D) 1.50 mm

Zero error in micrometer means

A) There is negligible gap between the spindle and the anvil

B) Micrometer is true

C) Zero mark on the thimble is not visible

D) Zero on thimbles and datum line on sleeve do not coincide when measuring faces are in contact
Lock nut in the micrometer is provided to

A) Control the movement of the spindle B) Lock the reading after setting it over the work piece
C) Measure the work piece accurately D) Lock the micrometer when it is not in use
Which type of device would be most useful for setting a pressure relief valve in a hydraulic system?
A) Flow meter B) Vacuum gauge C) Tachometer D) Pressure gauge
Where is the top of the concrete elevation on a machine foundation?

A) To the exact finished height B) Slightly higher than the finished height
C) To a minus elevation of 2 - 3 in D)To a minus elevation of 3/4-11/2 in

The “lay” of the rope means the
A) Direction the wires and strands rotate B) Direction the wires
C) Strands rotate D) None of these

The minimum acceptable factor of safety for wire rope is
A) 6 B) 4.2 C)5.1 D) 7
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45. The safe working load for a %2” diA) steel wire rope is

A) 3 tons B) 2 tons C) 10 tons D) 15 tons
46. Before you move an object, you need to know its
A) Weight B) Height C) Pressure D) Name
47. Pulleysinablock are called
A) Load B)Sheaves C) Weight D) Block
48. What must you know about a rope to prevent overloading?
A) Its breaking strength  B) The safety factor C) Its safe working load D) All of the above
49. Atemporary fastening of a rope to a ring, pole or hook is called
A) Hitch B) Gantry C) Safety factor D) None of the above
50. The bridge crane and the half gantry crane are variations of the
A) Gantry cranes B) Loaded cranes C) Pulley D) None of the above
51. What term defines the length of a chain sling?
A) Reach B) Brake C) Chain D) Hitch
52.  What should you look for when inspecting fiber rope slings?
A) Deterioration due to exposure B)Broken or cut fiber
C) Proper splicing D) All of the above
53. What type of splice is used to fasten a rope to a hook or ring?
A) Hitch B) Pulley C) Load D) Eye
54.  When installing “u” bolt clips on a wire rope the “u” of the clip should bear against
A) Dead end of the wire rope B) Peak end of the wire rope
C) Middle end of the wire rope D) None of these
55.  How far should the base of a straight ladder be placed from the supporting wall?
A) % of its working length B) ¥ of its working length
C) its working length D) None of these
56. The fastening of one part of a rope to another part of the same rope by interlacing them and drawing the loops tight
is called
A) Knot B) Hitch C) Load D) None of these
57.  Afluid used in hydraulic systems should have
A) low oxidation resistance B) high oxidation resistance
C) high oxidation enhancing ability D) none of the above

58. The pin used for alignment is a
A) Dowel pin B) Pin C) Pitch coil D) None of these

59. What is meant by “truing “a grinding wheel?
A) The operation of breaking the wheel
B) The operation of hammering the wheel
C) The operation of removing any high spots on the wheel
D) None of these
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60.

61.

62.

63.

64.

65.

66.

67.

68.

69.

70.

71.

72.

73.

74.

Adrill driftis

A) A tapered wedge used for removing drills B) Used for hammering

C) Used for chipping D) None of these

Cutting speed on the lathe is measured in

A) Feet per second B) Feet per minute C) Feet per hour D) None of these
What is the least number of teeth which should contact the material being sawed?

A) One teeth B) Three teeth C) Two teeth D) Four teeth
Why is it best to have the cutting edge of a chisel convex?

A) To save the corners of the cutting edge B) To use the corners as many as possible
C) Random use of corners D) None of these

How is the proper way to ground a welding machine?

A) Flow of excess current in bearings B) Secure and no current through bearings
C) No earthing and give high voltage D) None of these

An acetylene hose fitting has a

A) Right hand thread B) Left hand thread C) No thread D) None of these
Wide sheets of sheet stock is called

A) Coils B) Nodes C) Thread D) Knot

Scissor like tools for cutting metal are called

A) Knot B) Hitch C) Snips D) Coils

Which operations are included in sheet metal developments?

A) Cutting operation B) Bending operation

C) Cutting and bending operation D) None of these

Adding an additive to water glycol fluids improves

A) Flammability B) Viscosity C) Oxidation D) All of the above
What is the function of a lubricant?

A) To reduce the friction B) To increase the friction

C) Neither increase nor decrease the friction D) None of these

Low viscosity oil is
A) Thick like water B) Thin like water C) Water D) None of these

What are alloy steels?

A) Steels other elements containing in addition to carbon
B) Resin

C) Fabric

D) None of these

What is the chief raw material used to make iron steel
A) Copper ore B) Steel ore C) Iron ore D) Mild steel

What type of gear is used on an arbor press?
A) Rack B) Pinion C) Rack and pinion D) None of these
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75. The mechanism that can be used to change direction of motion and increase or decrease force or travel is

A) Shack crank B) Bell crank (c ) Metal crank D) Steel crank
76. A friction clutch can be engaged

A) At the beginning B) At the end C) At any time D) None of these
77. The cutting action of a file depends upon

A) The kind of cut and spacing of teeth B) Arrangement of teeth on the file

C) Size and shape of the file D) All of the above
78. Hacksaw blade teeth get dull due to

A) High speed and pressure B) Pressure not released during return stroke

C) Coolant not used D) Any one of the above

79.  Which one of the following is NOT the reason for making file faces slightly convex in form?
A) To increase the friction between the file face and the job surface
B) To give better distribution of the pressure and to compensate slight filing movement.
C) To reduce the friction between the file face and the job surface.
D) To reduce the effort in driving a file.

80. Which one of the following designations does NOT denote the grade of a file?

A) Bastard B) First cut C) Second cut D) Smooth
81. Whatis the principle of operation used in gear pumps?

A) Two gears rotate in same direction B) Two gears rotate in opposite direction

C) Both (A) and (B) D) None of the above
82. The simplest type of cylinder is the

A) Ram type B) Rim type C) Both ram and rim type D) None of these
83. Anexample of a static seal is a

A) Masket B) Gasket C) Glaset D) None of these
84. Camring of unbalanced vane pump is

A) Round B) Elliptical C) Both (A) and (B) D) None of the above
85. Pressure accumulators are used to

A) To remove excess flow of gas B) Store excess pump delivery

C) Absorb gas D) None of these
86. Spool valves are used to

A) Control direction of flow B) Control direction of flow of gas

C) Control direction of flow of water D) None of these

87. What is the most common fluid handled in an industrial plant
A) Gas B) Water C) Absorbent D) None of these

88. Water supply system can be classified as a “direct” or
A) Circulating B) Moving C) Re-circulating D) None of these

89.  Which factor is considered while selecting the diameter of piston rod in hydraulic cylinder?
A) Bore diameter B) Length of stroke C) Load D) All of the above
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90. When the fluid is pumped into a vessel under pressure, the dynamic head
A) Decreases B) Increases
C) Either increases or decreases D) None of these

91. You are going to press a ball bearing onto a shaft, what must you be careful “not” to do
A) Press on the outer race B) Press on the inner race
C) Press on the inner race D) None of these

92. Onething to keep in mind installing anti-friction ball bearings is
A) Clearance between balls and inner and outer raceways
B) Clearance between balls and outer and outer raceways
C) Clearance between balls and outer and inner raceways
D) None of these

93. Telescopic cylinders have
A) Only two stage units B) Only three stage units
C) Two or three stage units D) Multistage units

94.  Which flow pattern gets affected when cross section of the pipe is changed?
A) Laminar flow B) Turbulent flow C) Laminar and turbulent D) None of the above

95. Ifa pump gives higher flow rate to the valve then, pressure drop in the valve
A) Increases B) Decreases C) Remains the same D) None of the above

96. What is the advantage of internal gear pump?
A) Moderate speed B) Medium pressure C) High viscosity fluids can be used D) All of the above

97.  Which of the following statements is false for vane pumps?
A) Wear in contact surfaces occurs due to continuous contact between vane tips and the cam ring
B) Different sizes of cartridge kits can be replaced in same vane pump
C) Elliptical cam ring is replaced by round cam ring to reduce unbalanced forces
D) None of the above

98. Balanced vane pumps are designed to have
A) Fixed displacement B) Variable displacement
C) both fixed and variable displacement D) None of the above

99. What is the advantage of flexible vane pump?
A) they can handle solids which are of large size B) they can create good vacuum
C) both (A) and (B) D) none of the above

100. What causes internal leakage in internal gear pump?
A) less tolerance level between the meshing surfaces
B) more tolerance level between the meshing surfaces
C) no tolerance between the meshing surfaces
D) none of the above
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38. Hifew = dTg< ATHIHIET il U (0= & 977 U g Fuea g

A) 0.5 mm =T B) 0.25 mm =t C) 1.00 mm =1 D) 1.50 mm =1

39. HEHATH § A AfcFT AT &

A) fErea s uafae % fi= Trvg siae grar g

B) WIS IHIeT H&l &

C) Fae w2 o7 e fems agi zar g

D) 9aed I¥ [T ¥ STEeH AT 3ld Tl d T ST (AT il ATl Bl HT0 H A5l gid
40. FEHATIT | Tl AT Y& AT SIar g

A) TT=S % = &l [Ha=a w7 B) FTH % g T¥ He FX & a1 LTS &l Aleh HLdAT

C) H&T & F FTH F ZhS T HIAT D) ST& ITART | ol @ AT ATZhHIHIET I Al FLAT
41. grEgitord Heed | Tara oT® a7ed 9 Fd & (o7 F®id | [ZaTeH o7 Ta¥ FT8E START gRIT?

A) T Hiex B) F5FIH ST C) THTHTex DECIERE]

1399_17 (A) 11



42. Tt i A7 7 FhE £ STE = A 22

A) T Ut FATE 9% B) HTH FATS & &T=T ATeH|

C)2-3 ¥ § U ¢ ¥ FU< &l FATs U D) 3/4 - 1 1/2 &% s+ iy F=12 & forw
43, TEF "I W/ AqAG AT §

A) T T T oY ¥2ie qoar g B) aTei &t f=err

C) ¥ZH qHATE D) =H & 1S T
44, T TET % 0T gRaT A FFad T wE gl g

A) 6 B) 4.2 C) 5.1 D) 7
45, Y SATH T Tl a1 TEHT o [olT LT A1 grar g

A) 3 tons B) 2 tons C) 10 tons D) 15 tons
46, THET stfestae Tl TN HLd § Tge ST SITHAAT g7 S8

A) AT B) FATE C) za D) 919
A7. TUF =AE H [odl [ &l Hgl ATl &

A) e B) farsar C) 9T D) sl®
A8,  ATFTATTE FT Tl o oI sroent Tt 3 ST § 4T a1 g7 AT8U?

A) zHfT e T aTRa B) TRAT FE C) =T T 1 91X D) S a44¥
49, UF AT, T AT g o ToIT THT T U T avae Fgardl o

A) = B) =1 C) TX&T FTh (D) =7H § FIE AT T2
50. T % ST SeT et e ol fafererare €

A) i+ B) e Fv el C) qeett D) Z7H & g Wl 75!
51. T 9158 U = &1 & @ars Haiia wear g2

A) R B) 7% C) 3 D) &=
52. WRTEEY TEHT % I T FAETEA0 O H9T ST AT @AT AT gU?

A) ST % w0 FRrae B) 221 g5 a7 e wrEay  C) 3f=a favmse D) 39¥I<h Tt
53. g a1 a1 % forg wft oy for wehTe sem St 872

A) = (B) qeft (C) @ (D) i

54, S qTC T T I "U" diee T RS S0 v fFrT 3 "u” A g9 wEer Ay
A)TR T F T B) TR TEHI F a0 FX C) AR WHI F qeF GIX D) TAH ¥ FIS 7al
55. HTelt HIET o ST o THAT I ATl 1AL & ohaeT g2 @1 ST A0 2

A) THF FTH FT dAaTS HT 3MLT B) THF T il A(aTS T Y4
C) THHT F1H FT daTe D) =8 & #Ts A8l
56. YT % U AR AT U 2f TET o g 38 | Jied & forg 378 Sede i G &l di=d § Fgl 14T 8
A) Ttz B) &= C) &l D) Z7H & HI% |l A5l
57. gIESIiord HeeH § Y a7 gMT 9180
A) F At R giare B) IF SRR 0T WO
C) 3g SHAHIHL0T qETH %l &AHaT D) =% & Frs off 7t
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58.

59.

60.

61.

62.

63.

64.

65.

66.

67.

68.

69.

70.

71.

72.

HY@r * i g&qHTer o6 foe 2iam 8 o

A) =tae foe B) fa=r C) fa Fea D) =H ¥ #1E AL
TR I Al "ZA=T" T FAT TqAS 872

A) IR FT TS FT FATAA B) TR AT I | T HaTAH

C)uleam i fisg el A gem AT dd D) =98 4 #IE A81

T T3 Rwe grar g

A) TS %7 3 forg gequTer f 10 0k aaert ag B) SR 3 forg Swar o srar &

C) FifeiT % forw z=awmer o D) =¥ & IS ART

GG T IS e i /AT AT 8§

A) Fie i3 ke B) e wfa fame C) wfa = < D) =¥ & IS ARl
T(AT ol o | HF AT FAT g o0 T 0 ST T AT | H9eh FeAT AT80?

A) T T0q B) = =ia C)ar i D) = =1q

T T IAA o e o [T T TaH STl F1 g7 AR 0?2

A) FTe # TR % AT &l 97 & o0 B) fSra= &9a BT Ia+ &A1 &l STTRT HTAT
C) FET % ATg=gsh ITANT D) =¥ & ®lE A8l

FfeeT wefie =7 @t a8 & %9 forar ST aehar g2

A) Frafisrt 7 sifafs frega yare B) FEfara 3fw St "reaq & S oft =1y TE
C) #rs ¥ ALY 3% 37 Aleewt a7 D) =98 ¥ ®s Aol

T U eil R & gram g

INERIEEPE B) T 2197 9 C) < e 7&t D) =H ¥ #1E AL
ofte wai= it =TT fied FT F1 STAT 8

A) Frzew B) ArgH C) e D) itz

ST I 6 (1T H=AT STHT STRLUT gl SIaT g

A) 7Tt B) &= C) =wgr D) ®rzed

offe aTq o AT | &l | STLere omHa 872

A) FTe FT HAT B) ST STILerT

C) FTeAT ¥ AT Fa ST D) ZH | &I A2l

T o TATShIA aeed TaTd § U AT STE I dga< a47am &

A) saesfterdar B) feraf=rama= S EIEIETU D) 0¥ & Tt
TE T A FAT 8?2

A) T FT FH FIA K 0 B) =rYT T ST o

C) T a8 ¥ 7 &t oo 7 i D) =9H & FIE A8

FH = a9 gar g

A)TTa fraig B) Ui R g aaer  C) 9Tl D) =H ¥ #1E AL
aqeh fTash F T g2

A) FTEF o AT 37T Tea Thed B) Tt

C) *fa=® D) =9H & FIE A8
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73. I TIA a9 % (o0 &7 FgT A #4715

A) FIT AT B) ¥t TIF C) /g s1a&h D) &= ©I
74. UF AT 99 9% T TR T R STt BT Smar 82

A) T B) fifRa= C) ¥ i fiff=e D) =98 & FIs 8l
75. TSI ATA i Q9T 3T F@T ¥ =TT a9 JT JTAT o (70 SEAHTA AT 1T ¢ 98 Bral &

A) T Fh HEEEE C) oTq % D) &1t %
76. UH AU FAF AIAT ST THaAT 5

A) grFema | B) sia & C) foreft oft 7w D) =98 ¥ FIs 8l
77. et WIS T Fred & wATS ML FAT g IHh

A) TTat #T Fe i ff=F #71 T B) WISl I¥ STl il e

C) HTEH T ITHTT 3T ATHRTT D) 3%k Tt
78. FET IS F(A Toheeh IO Ged gl SIrav g7

A) 3 T 3T T&Ta B) ATTT ¥2Teh o XA 2aTd A5l BIET TAT

C) Fie T TEAHTA Agl AT T D) ST # | ®IT UH

79. TRATad o & %I9 €1 B a9 AT HIL0 A6l §, ST o T H AET A7 39 g1l 872
A) FTZH T T AR 0l g o F1= T Rl T2 6 (70
B) TaTd T dgd¥ (a2 Fi¥d 1T ST ATET RIS HIFHE il AL 6 (10
C) FI=o T 3T AT ol Fdg % A= U [ HH FLA & [T
D) ®T2el FATH | TITH FT FH FLA o o0
80. fRuferferd ot & & #i= #ft s wrzet & I #1 A= 7l Fwar 2?2

A) aTEeE B) gl Ferdl C) T8I Ferar D) REETL
81. Rraw ool # gk (e F1 Hgid #7182

A) 31 R o 2t fRem § gwar g B) &1 R faadia fem & swar &

C) =T (A) & (B) D) Z7H & HI5 |l A5l
82. HTYTIU TahTL T Mferex grar &

A) TTH TFTT B) R\ warte C) T T 3fix RA 91T D) =7 & *ls A8l
83. U TR i 1 UF IITA AT @

A) ATEHRE B) frerehe C) THe D) =¥ & %I q8f
84. SrEIeId o TFT & | R grar @

A) e B) siEThT C)zmMi A&B D) =H & & off A&l
85. STHT ZATH & TEAHIA g1dT &

A\) =far It F T8 F g & for B) srferss v fRerady 1 ST #°ee o forw

C) 3% T | & fou D) =H & &1 oY A&l
86. ¥ AT T ITANRT [T SITAT &

A) waTg it Ferer faar B) ¥+ % WaTg i fH==ror e

C) uTet % warg #ir fArror faem D) =¥ & &I q8f
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87.

88.

89.

90.

91.

92.

93.

94.

95.

96.

97.

98.

U SATRITRI T2 | a9 3 qd a1 §9TAT ST § 98 F47 §
A) 9 B) STe QEEILED D) =¥ & ®lE A8l

ST ST STt 30 "I AT o &9 | FHd 3T ST Tl &

A) TRE=T B) = C) T & wfiw=mdy D) =¥ & &I q81
gTeg o fAeieY § fived T % 2T T T4 FLd THT -5 FHILH T £ T&T 1T 8§72

A) T AT B) T2r= it waTS C) 9 D) 0¥ & Tt
ST9 79 T § Ueh a9 | 99 grar g, ar Aiaefie 7w

A) TTETaT § B) 3f&

C) =T a7 9 STl & 37 =< STt & D) =7H | FIE 781

AT ek T T 3T Al IATUI, STTRT FIT FleA o (o710 AT T@AT ATgu?

A) T W U I B) Aiafsh ¥ qx =@T0 C) A ¥ TX Zard D) H ¥ FIS Aal
fareft =t ater afiar eonfa &3 & e a1a &1 e ° T AU g

A) =T 3T s ST At W & 9 Fawnt B) W&l o argdt o7 aredt Yo F di et
C) =T 3T ey 37 siiafvr v % fiw Rt D) 398 & #rs 98t

AT R A gar e

A) Fae T AL THIEAT B) & i+ =<0T THRISAT

C) & AT A1+ =0T T AT D) HedEasT SHTEH

TTST o I HFAT | I & TaTg Ted TATET gl S1ar 872

A) T TaT8 B) s1erid WAty C) ATHATT M sF9ra D) =9% & Fls AT 7al
T U 99 FTed %l Ig TATE X aql ¢ af aTed § a1 T Al g

A) Tzt 2 B) F &1 T £ C) U &1 't 8 D) = & #1€ off 7
i [ 99 =7 F27 979 872

A) HeT® T

B) weaH Ta1a

C) 37 Fraf=rmas awet el *1 sEawTer SR S "ehar 8

D) 9% % Tt

feferfad s § & #1997 a7 uui & forg 315 87

A) 3= feo o7 39 RAr % @9 FEa 60 F FR0 S99 qdgl | f6aT

B) Tt Tohel o TATH= SRl &l SHT helsh U7 H I&dT ST 9dT &

C) S Id FAT I FH LA o (T FSTHIL A= I T T T S H T&A (<37 S[1av g
D) z# & 1% oft 7Y

Joi®e e qai o forg R AT mar 8

A) fraee fwame B) afiuaer fawamo=

C) T T 9% AT faem= D) =79 & FI5 Y LT
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99. AT A= U7 T FIT BT 82
A) T BTH AT GATA Tl & ST T AR 6 gId & B) F 3755 IFIH a7 9l g

C)ziA&B D) =¥ & &< |l 7&l

100. srafw R 99 % staftes R &1 9 w82
A) TTORT Fagt % I FH Figsuar €< B) HTSRT AqRT o 1= SATer HAgTu[dT &<
C) TfohT waet ¥ A= 7% AT T8 D) = & #rE off &
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GENERAL APTITUDE

10.

11.

12.

13.

14.

15.

ST ALIFS fF I 519 0 2

A) RIS B) <15 FRETIAR C) st @& fb Sreeid @enidl frta D) «fG q@rcaaiz sy e
& e AL PRz 2R

A) B) 5+ C) wrsfife D) Sntwfal
9N T (oI0® @6 CTIF SR 25 Iz s I =l

A) &3 (Tearege icd B) @b (e e C) @b 5= Tuee D) ¢<1b aite fuea
TR 2L F2[E I Blfre =T

A) Sare B) @42 C) I D) e
(AT o ==

A) St B) #ifewnfo C) ww o D) sichaizs Wit
TFaR [ifen ve 7o 23 @it

A) THG7|G B) w&IGisifes 7Rl C) &34 D) LI

(I (T 2 T A9 IR ?

A) SIS B) e1l C) ZTAI3oE faew D) (#iiet
frferiis @mit suita 7% 2

A) Mn B) Mg C) Cu D) Zn

A) eIt B) Telofs C) &% D) @ (F=02 T
S| 7T So T (FIFITR B #ifFfoe 20 @i

A)GizF B) < C) Toltam D) T

84 @32 270 €3 @2b. B1. €. (9l37.2.)

A) 8 B) 6 C) 4 D) 2

3 @3 22 50 eiieraa (@iaree 29

A) 45 B) 65 C) 75 D) 90

7112 ST

A) 2840 B)42:71 C)72:42 D) 42:72

4 (IR 2005 (AT 183 @feret 2005 #1% 2000 BIFIF 25/4% i R0 A7 7 (9 T

A) 35 5=Fl B) 30 Gi<el C) 2551l D) 40 Bi=!

20 6 AR 91T 2o %75 | OICHR S0, I 14, Foft %[y (A0 I8 20 AN ?

A)0 B) 1 C) 10 D) 19
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16. GG GG 24 (CFCS 200 RGIF (e | ©F aifstael

A) 10 3 / =51 B) 17 f&fst / =% C) 27 {5 / =5l D) 30 /% / =51
17. ST MRe 727 26

A) ¢35 2Pl 724 B) «fG sjefoicaint C) «=fb Area A4 D) @5 s7=jef A4t
18.  OF CTIFS ¢ TOIF F© Wi

A) .0025 B) .0256 C) .00027 D) .000126
19. (b 2ol fRraror oy oesie foet | fofd 40% wicsie fKifer weae @3k e 4206 SIToe =it | 3T, O SO Sicsie

foet?

A) 588 SITofeT B) 600 ST C) 672 SIITsHeT D) 700 Scoe
20. A9 BE 10 T @ B @ 93 e 15 e 0 | GFAC S0 @ DI O] T el F0 2

A) 5 fae B) 6 fa= C) 7= D) 8 fue

DOMAIN KNOWLEDGE

21.  Fig @3 Pifere 30 S0 ga0ed fomel 20e [ 23 2

A) e fetes -« 3 femet zra =i B) ©2i& #MiT2(d beTlel fomel 20e It

C) faf® beTeraiig sfiexl ([0S #Ita D) ¥ M6
22. N @R RGITE @69 45 AR —

A) TR 2RGIR G5 B) Sr@fd6 2i2gife (it

C) R 2RgIfer® ioa D) &fae 2izrwifers it
23. @R (oS (e ST 339 @<k Pifee (S szl T SRzt St ?

A) (IS (AR ST (6 (2 T4 K B) (0 (&I T2+ (R (21K ST 53

C) 5 (2PF € (AT (2P11F T4 92 D) & &6
24. (=1 5FF 2 (5K (F (L@ AR —

A) & B) T2z C) D) < a6
25.  [PRG ATl o5 Feia Il At 2

A) IF 1] (axially) B) b&FIRICS (radially) C) (A) @< (B) Tz D) =g =
26. (I A Piferea g9 ARITS AeT (26 77O 2 2

A) &SI 505 #iel B) @fSist fopba ottt C) Smifsmist fopba sirs D) =g«
27. (@ CHE (FIARGIZo 22 1 ?

A) FICI (right angle) S15iCe B) 3o(Cwaaia sifarmi

C) &lIt®< (edge) 900 €3 AT et (@A NFE FACS D) FIAECF 900 (S (76 I &y
28. fagferie afer sica (=l el s 77 2

A) @ CBIRE B) 3bieT e C) 5&e @& (edge) D) ik o
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29.  COMAPT CALHA (hle T4 X[ wipiferiiet fo1hea coteta vzl (discharge) ¥ 263 2

A) (ST fvgae A B) cefeita fmge sifes
C) (ST (I fRmgael 2 1 D) @2«
30.  (GURIAR X (IS0 S ey 2o 28 —
A) 30° B) 45° C) 60° D) 90°
31 SIS fPeB oiis fTeniza S ey 31 Riamen a1 28 —
A) G (253 IR B) S[& &% w12l A% 5791 AFCT 492
C) &% Suf3m o5 #AiT=iz fTerizs D) w336

32. U G 0 20 I/min @R G ifstast (velocity) 5 cm/s, 2AZToR ST 3 Z0a —
A) 66.66 cm? B) 60 cm? C) 62 cm? D) =g =

33, fsfie afew st @ @is IRt e 31 2
A) 0.01 fif B) 0.05 fafy C) 0.10 fafw D) 0.50 f&ifst

34, 3 ATHARE NETAGI 5 (railbe @b =iz | 7o s Feia e —
A) 219 {97 A (Fealbe @0 N @Rl B) 2ie [k 20w (eaibe @(oa S Kol @i
C) =ia fafSr-«wa At (ealloe @foa fawe caiotaal D) efie i 20w (eailte Fia fawd st =

35.  50-70 s SEGaIRe sEtwoCas =+ [ Fo 20q 2
A) 0.00 fSifsl B) 0.01 fufy C) 25.00 fafy D) 50.00 fafy

36. AR AA-GF FACG A AR Trey fermferRroafer seay (et sz i zm 2
A) Siffa i B) SIITHAIZE MBCERGIF  C) B (575 2f&r64 D) T ifeisiia

37. iR e gkl (@ Peres Tiol 73T ST 1 T o (@le
A) = ffe B) << S (Least count)
C) & (%=1 &R (Main scale reading) D) a5 Y& [+ &>

38. (UG SNEGARE MECEFRGICA (T (ATTE fFrites A, O &6 @2s —
A) 0.5 ffS B) 0.25 fify C) 1.00 faf D) 1.50 ff%

39.  SNECHFREICE =« @b (Zero error) I&TCe A @RI —
A) FooITes @3 SINTSTETa T BTorFa s Towi
B) szt IfGRfs #fie
C) {11 =1 o=efG crt Az =1l
D) Si7l 2l G T2 1717 o S0 et @3k fred Soia Bt #1i3caa ¥y 5% @3 el (coincide) ST =11

40.  WETEIRHR FF G (@ FIACE IO AF —
A) F0eTa T2l NIg e S
B) S I &oid AR #17 1%k 519 F219 ey
C) I AFF ARSI &
D) T4 (21 1 TR I (2 SREIR ML &6 S0 ety
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41.

42.

43.

44,

45,

46.

47.

48.

49.

50.

51.

52.

53.

54.

G oW oz faforr o G5 w219 ooy (e TZ1ifT (@ Soicaan 2

A) I Sio= B) I oI& C) BricifatE D) (a=ii et
IR ISR FRIED TEF T2 waiio —

A) 5% frferTe Swel ge B) ferfeeTe Sovel STCor @3 (4l

C) 2-3%f% W20 Thol 20w D) Tl 20 3/4 - 1 1/2 36 iz

W% (rope) @3 ¢ (lay) I57Ce & (R0 2

A) @ T ©F @3} 351 fera ol 906 B) wriasfer fre

C) @ftss “Ge wfer gofq =06 D) (e

A) 6 B) 4.2 C)5.1 D)7

217 3126 IR F516 WG 1o FIEF! (FIC T 2

A) 359 B) 254 C) 105+ D) 1559
(I TGS I T Sl AT Sw —

A) €T B) Tl C) vi7l D) i

@3 FIF offer afe SR (& F e 27 2

A) (=T B) e (Sheaves) C) &G D) &
SRS (G AMTS = 27T O G Sy (A0 AN 2

A) @63 o5t FFael B) fR=iel wmga C) fR=iom iter= (=i D) 3@ 16
a2, ColleT <121 2(Fa A0 MR SR TS S AceT 2

A) fz5 B) 7IifG C) fe=i=rel wiga D) @bg =
e (@ 93 217 NG (@ (ITha 2 2

A) NG & B) (AT (G C) et D) b3 w1
I AT (5o faxal-a2 try o sca 2

A) 75 B) @& C) 5+ D) fgb

O WG faRal SifZid 71 (IS o7 2 2T ?

A)IFE AP G FT  B) o7 ¢ ey og C) Aoz =2iizfx (splicing) D) ¥ 536
=5 4] -3 IR0 G F 09 2T e 21 2

A) feg B) =ffe1 C) e D) =g
SIAR TS T4 “u” (@16 et IAIe 77, f3vest “u” 6 919 Reidice sz 303 —

A) St i oI 2l B) Otz wiuw {21 &li® (Peak end)

C) SIta7 wied & &A% D) @bg =
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55. @b (TS G IR 371 PTG ba waTenes SRZMRAIE (eie 20e % id 0 S ?

A) FRIFIF e Y B) SRS (HTda Y C) Aftal FimIf ol D) =2 7
56. O uIGH OF AT I5e G 93 UG T @S ST STy FITe I8 (T e lesfeT Bi2G 23 oIt 5 qcen 2

A) <% B) 2% C) % D) @bg =
57. 323G G0N (1 o761 59219 391 2 ©IF (T (A% = 2ftaee —

A) 5 Sz gifoze <17 5Frel B) T & Afoze 17 el

C) T G Jfard Tl D) @2«
58. (X o SOIARIS-«F &) (A2 1 2 —

A) TISTTE e B) o C) fof5 fom D) @bg =
59.  eliRe bred 528 (truing) TETCS 6 (IR 2

A) B ISR ST B) b&FILL 2T IR S

C) BFILCS TSI Wil IR ST D) @bg =
60. 1 gIs (st —

A) TGeTbTE AR &) G576 B Seaer B) 219l % &y 5217 23

C) ofoic-az ey qam 2 D) (a7
61, o SiIfGR oIS (@ @t sl 23 —

A) T 2ifs ETae B) T @fs Nfats C) b &lfo qB D) @bg =
62. I (I TE T MG D! 2 o3l Fo et MiTwe FLCAI REA ATAIEH ?

A) 46 nTe B) fIfG e C) 7t e D)DK
63. @5 AGIfer (chisel) @ S1@ws (convex) SIke* FIfb @ IR Toicaifare! i 2

A) R qUsR (e fer 551 1 B) (! &fe1 IUTER <2id 41

C) (F=iefer Fies G2 D) @bg =
64. STARSR (T AT 17 A5F 72l e

A) faifaiz-« efsfie FIEs @iz B) RNz« (19 SIS iz e =11 23 ©f [f*pe a1

C) IR 2T T (@IS (redl D) =g =

65. smiffbfem 2 o9 7l g —
A) WIS (2T B) RS (2T C) (I (2T (13 D) (e

66. BI5Ibra fige Pibte T eni 23 —
A) = B) (A1IS C) (AT D) «%

67. I T 77 Tl 4IeT FHT T2 23
A) 6 B) f25 C) fa7l D) S
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68.

69.

70.

71.

72.

73.

74.

75.

76.

77,

78.

79.

80.

15 (IBITeTa SHFSHATE (I ST SATTIAN

A) B STATTIw B) (A SisAICa=I C) Ff6e 4R @R AN~ D) Pz
GG 212 FIOT SITTHE (19 FCE (P SRS G 2

A) i<l eiege™ (Flammability) B) featIiD

C) &= D) s s

AR e 2

A) T4 g 411 B) 93l f <11

C) =ter g1 Al I (P02 7 D) =g

5 fomafifs 3@ cost (ae —

A) GICETd IR 9 B) SiCeTa I wAreel C) &= D) {0«
R IOIE (I / et

A) T TTIS B T I Fole] B) @fem

C) o% D) (F=ib 7

A) SIE SFREE B) 0IC5T S C) 2T WS D) 7 (Mild) 5is1
SR (2T [ Q0 9109 9z 23 2

A) T B) foife=i= C) 37 ¢ foifesre D) (b7
sifiox s s{fsade «2% 79 1 FITeter Jia A 20T &= (3 Awioib U2 1 AR (7o —

A) SIS FE B) (I &% C) ot T= D) oI @I%
@3 f5 T 5 T 2T T A 2

A) 2SS SRR B) I SRZR C) @ (I3 D) (F=ib 7
IZCETa TR 0ol (@6 T frsa sz

A) FICHF S G3R HIT0F SIRZI B) TiZCeT HITed SR

C) TR TR @ SFS D) > &6

I (FC (@ AT (101 2 —

A) T 5ifS @ BIst B) R ERIFRaI 12+ 51 & 23 I

C) AreeThIFS AR =1l I &l D) Stafie (@ (I 93

fferie et St (T & FEa (1 S SIwe S TG 23 11 2

A) TFIEF (A I ST W0y T i B) {3 BITs7 fRIBI @ 7781 FiRFR ToreG 77 41l
C) iz (7 AR 1Y OLeTH W& Tl 3 D) 2 BRI Sy FICSE 11 GoICAl

ffeiReafem Sty @ wiRcee (o o s —
A) APHTE B) 136 15 C) Gice (5 D) sFjel (Smooth)

1399_17 Bengali (A) 22



81.

82.

83.

84.

85.

86.

87.

88.

89.

90.

91

92.

ToI=1 Ao S o1 Ao (& 2

A) ¥t oz @32 facs gefq e B) w2 fariz faeide e gefa ez

C) (A) @ (B) Te7 D) =g =

RETes PfETes (2l —

A) 013 5izA B) &= Biz~l C) v ¢ faw Tewg D) =z
35715 FrreTa Swizaet et —

A) TS B) aIP1CFG C) &6 D) b3 w1
RPIAPTG (o AT=o17 Fifst faes —

A) (NI B) 2fere{foret C) (A) 9= (B) Tex D) =g =
(R SFACEL (X PR T2 28 —

A) SISfE& SR bele & 1K Gl B) wifsfae #i=v| (wlerelfs 7=ea Gy

C) 55137 CARCE &y D) (F=ib 7

& IR ~Ja1 ©F 2 91 2 —

A) 23127 s g e ey B) 7l1i™1 2_Itas g e ey

C) w1 2ited uss e eey D) @5 =

I 226 MRS RTe Iz 28 —

A) A B) et C) *iI5= (Absorbent) D) {0«

T AR PIOST (¥ SIta ol 1 I — S (direct) =12l

A) 332+ (Circulating)

B) 511 (Moving)

C) s{71s71s32 (Re-circulating) D) (FIIo w1

TErgifers Pfereiz 58w e o TaRe @b Sk e v —

A) RITII A B) GRItEa o C) (=TI D) Srale 7
G AT T & 917 T 23, 0L CRIIF (78 6 —

A) 29 Al B) i@ Il C) 23 2171 = Jf {17 D) (F=ib 7

G35 T Tl 2w 767 MR- T4 BIot AT 1 23 0 (G 102 41 Bfoe 75 —

A) ST (F0 Bi7l (radl B) 3114 (0 Bi7l (readl

C) 217 € SITHIF (ACH G AL 519 (rel D) (=

SIS feraie 9a1 iR S19NTeTd STt 91 See A1 2Acs
A) FeTefe] G2 317 @ TTHIF (AT 04 FIF (clearance)

B) &1 @feT G3% SNTH € SNOHE (3 ST N0 FF
C) FeTf61 © 32 SITHIF AR T (TASTINC FF
D) (=G 7
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93. (Bferrmifors Prfereita at aes —
A) 7o ooE 3Rt B) feafb Wi oowsefas  C) ufo i foafs oow 2efn D) W05 3816

94. A @3 ARZTAT 2FCHR SAfaE GG (Fe 221 (flow) “Mafed s 78 —

A) FfEE 232 B) BRICETS 2112 C) TSI @12 @ BIRIJLETS &2 D) (@40 <
95. Y GG Al ST T Bivl AT T 27 T SIS (2 Yol (T A6 0 O (et —

A) 3f& B) g™ C) TS A D) @
96.  TOIIE foRIid SAIC=ia Toiraifarst 2

A) TR aife B) iz vi7

C) Tt oIt I& o7 92 41 I D) & 3

97. (oA AT Gl (FIe 0L e 2
A) (S {577 @32 1 R G 0K TS “=oi{ IBIF Sy Fo/bT1 S ST
B) @3 (& #lit=v! e Aizrem Fifbe 56 s a1 am
C) SPIISY (I3 T Sy SferaifGxie i -2 weat catisiiviz 1 faz -3 a2
D) (0«

98.  IIF Gl AIATG (B A~ ferize a1 25 —
A) ffve ferceres B) sifzsaa fea e ers
C) % @ »ifgasa forzpiesrs Terzs D) =G =

99. (FHRE (o AT Toifol 52
A) TC ABLEE I AL G IS A
B) SIteT OIS (ofH FCO 3553
C) (A) €=k (B) Twwz
D) (0 =

100. fEIRIC THRIE PRI ATCs1 THReI forcarer 231 2
A) I ST ST 3 2 Tl B) G2 STeT S04y (¥ 372+ Tl
C) CIf¥I2 OTeTa 0Ky A2 Tl ld Trolq D) @Ia
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GENERAL APTITUDE

1. SIS TR0 907 "1 Y8 SHidl ?

A) THRS TBTRRIT B) Wl W HY

C) JeHi Ueht SFumHy e fevd D) ahivd
2. Y| < Y Sf=nfies shifd gt

A) B| B) fsremt C) ST D)JuH ©
3. TH Uil csavamETdt dierarvarer €iet 7 et soar Jum T

A) T AT STV faae B) 3T14Te3 3rurr=yt feasft

C) Tt v feaw D) 2Afasr gy 7eorm=n feasfh
4.  VIRAT WY YUW HIOETA] garet FRof 39 39rvard seft -

A) H3H B) Skl C) Y D) §d
5. forwrdt g gE A oTR ¢

A) TSt ATt B) MesT=ht (STgfarsta) ATt

C) &7 ATt D) AT (feTmge) Hret
6. AT TS e I AT ST :

A) FHiEATE B) facifeecsa aiidly C) ivetizen D) e
7. SRIVTCAT ST T5-ver Ugdt 3R ?

A) 9Rd B) sfietert C) gArIeE fhren D) quTes
8.  WIciicl Uehl ShivTd ekl UifEeh Uerel 2R ?

A) Mn B) Mg C) Cu D) Zn
9. STt WA Wi § R

INEE B) TH C) ®e D) st shivrd &t ATt
10.  gefi=aT g8 ST 92 o 1T Sheed Tl FeuldTd :

A) ¥T5h B) =hiAT C) udigiex D) ififsH
11. 84 37fir 270 & HCF 3R :

A)8 B) 6 C) 4 D) 2
12. 3 =31 99 UM Heeluerd! (Tidial aen) siist T

A) 45 B) 65 C) 75 D) 90
13. 712 ARl 99 3T -

A) 28 : 40 B) 42 : 71 C)72: 42 D) 42 : 72
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14. %. 2000 T 25/4% Jfd a9 TS 4 @it 2005 o 18 T 2005 TN FHIBTE1E! e
A) E. 35 B) €. 30 C)®. 25 D) %. 40
15. 20 37T GUEH TR Y. AT, STediasied, fohedt S ver s1fere stadiar?
A) 0 B) 1 C) 10 D) 19
16. T SRTE0T BAeiell 9Taug 24 TehaTd 200 Hie gradl. == 97 3R -
A) 10 km/ara B) 17 km/at& C) 27 km/dt& D) 30 km/dt@
17. el QU1 fohall STqul S7ehTd <o BI5a o1l He (THe) o1TR -
A) T T T B) T qUTieh
C) T Wi D) T |quf @A (Whole)
18. s Tehe Ueh aTa fehell 29maT SR
A) .0025 B) .0256 C) .00027 D) .000126
19. TH % [Iohcdl e FIE 968 Bid. a1 40% Thas faehdl ST Q=T 319 420 HHER Rieaish
TR, W, HooTd AT=ATHS Tl THTE B 7
A) 588 THEE B) 600 UHL=S C) 672 TH=E D) 700 E%=E
20. A TH ®M 10 fagdrd guadl 1Mo o= M B 15 fea@ma qui sidl. X d 38 U o s fohd! fesEma quf
EaGi K
A) 5 feam B) 6 fea@ C) 7 feam D) 8 fgam
DOMAIN KNOWLEDGE
21. Siegl weist 3nfur faferemelier 3Tt sTetvand 3Id degl &/ 2id ¢
(a) Toee femwiamie seerar Ia et
(b) saderat=h (Fige) Teaom Yarer=h e feear Aga
(c) 3Ufereh YaTeTE 7Tt fiezaar Asa
(d) =iiet waehTer
22. HH AId g AT T JohR 3R
(a) TfFaeTa BRIGTTere AIeX (b) 3ifele BrIgiferes AeX
(c) firr grgifores Hiet (d) Aeerar errgifors Hre
23.  hegl Bifeet fuked A ot faforet satemefia 3ime sHuTe dad ?
(a) Siegi T2 IR oile ITRUET ATk 3d (b) Siegi T2 IR wiie IIRUEAT FHH! 3T8d
(C) STegT BT YR AT oAl IR THAHT SFHd C)ENSKEEIH]
24, HHI-eh M IH-TT = Hie e ST -

(a) (b) =1 (wre) (c) & (d) = wewRrE
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25.

26.

27.

28.

29.

30.

31.

32.

33.

34.

3s.

36.

37.

38.

39.

40.

e v et s it 3T Y

(a) fFasTe ggdi=n (b) He3rar ugei=h (c) q=&t (a) =fr (b) G EAGEICHEI]
WA TAtshl ShIvTedT THTd, TS Tie=a St ffeTet seifeh savand Id ?

(a) e ifFaE freg w (b) Westad e v (¢) ifFaeTe fueeT um (d) i =it AT
FHITAT 1 TS JT9E ATl

() e TSI (Ib) <reRI=TOT qUTEOT

(C) TS e foaEg 900 R Tes W1 ATk sh0 (d) Feh AT 900 T T
WTefTishl ShIvTd SRR AT 2at 3718 7

() g whaT (b) €ra & (c) "2 uw (d) far 7t
FfaeTe fies wrawe, dar fewast (Trev) /T 318, Siegl @i Wi 31Td [ 39d 7

(a) I fetamst FaTa T8 (b) T fetarst foram /e
OESEISSISEIN] (d) =it =hivTaet T

T TR ATURATd 8T 3T TUTHUTETSY

(a) 30° (b) 45° (c) 60° (d) 90°
sffasTel forees qra=f AT ST IO TUTeH ST ST ¢

(a) T e AR (b) 3o U fehal FATse I HcheHea AT
(c) sie 3iferag fuge qrure fesga ) ENSEEEIH]

S YETETE AT 20 |/min T8 0T YaTeT=h et (setfdl) 5 cm/s S8, aX, TS &hes WISl :
(a) 66.66 cm?2 (b) 60 cm? (c) 62 cm? (d) =t ShToTdET AT
nfesh AR foRaT oM 3T

(a) 0.01 mm (b) 0.05 mm () 0.10 mm (d) 0.50 mm
ST Wik Hilfss T (3[F) R, ek e gmgn =ar 35 -

(a) T=n fifeme Tmfees vl siist e (b) T=1 fifgmme Fifees T a= FEA

(c) T= fifeme greiides Tl s e (d) =1 RfSmed goe-rIfees TR asl e
50-75 mm FTed AR 3 e & R ?

(a) 0.00 mm (b) 0.01 mm (€) 25.00 mm (d) 50.00 mm
YTeATeAh! ST IUHIUT STI ST STRTEAT WHghIH e THehs! THIUT qUTHUATHTS ?

(a) sEfteTa e (b) IR UEERHIE  (C) SR 3 SfgheX (d) STt i
SEfHoT ST S FoRAT HISMHTY STt Figaar Id wTel FeurdTd :

(a) T ffen (b) fermm TTorT (c) 57 That fifgm (d)sfargera fifeT awm T
Tfeer SR A HicHd 1R d<s foied e fu=die -

(@) 0.5 mm (b) 0.25 mm (€) 1.00 mm (d) 1.50 mm
ATk 3 TR =S

(a) ferea smfor sff=eeme Hewyl Toeid X (b) TRIHHIE T 3R

(c) feraretartia s faee fewa et

(d) Terereral T SATI0T STETaRe (¥eieg) S0 TS UhHERIIT Jobd ATald Siegl HTfT e JUshid STEdrd
RIS IHICHY AT TG ohel SITd &N -

(a) Ruger=n erer=Teiat f=o oo (b) shdfieeEr B sheara ffS i ot

(C) SThHIE= ST=[HIT HISTHTY 0T (d) ST TEA TSTT WIS IHIS Aok Lot
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41.

42.

43.

44.

4s.

46.

47.

48.

49.

50.

S1.

52.

S3.

54.

SS.

56.

TRgIfoTe forenmel IIR fifeT® seices SHAUATETS! ShivTeal Yo 33 Haid S 3/ 8e ¢

(a) TR (b) EgA T (c) TR (d) ISR IS
T HISSTHaR () hifshe=al UeTede e (ITUTe! ) Tt 9T i TR 7
(a) R 572 3=ht ud (b) 3=ft Tud == TS At

(C) 2-3 F9T HRAY UfcTedyH (I T cTdeT )
(d) ¥ - 1V o ARFE UfcTeey ™ (3t T caTdet HHt)

e A v

(a) AR i W (Ue) Tohroar=h feum (b) amrct fohroar=h feum

(c) et ftrruarsit fewm (d) = Tt AT

IR YISt Fierda=an qon foram wiehd! o1me -

(@) 6 (b) 4.2 (c) 5.1 (d) 1

Vo rTe Wia U gaferd afdh A o1

(@) 3 (b) 22 (c) 1024 (d) 1523

T I TGV JEETCT T © SO H0) TR TR -

(a) T (b) 3=t (c) == (d) 7=
WWW:

(a) ot (b) T (c) 3 (weight) (d) st
SRS TBUATHIS! STl STV B0 TSt 3778 7

(@) @ 3 Sy (b) AW FE (c) & g eire (d) =i T
T T, Ui (WTe) Toral §ohaTt Sieal SREE ATeqRdT SIedTd, el FevrdTd -

(a) B (b) 7= (C) T et (d) T FoaE T
forst ot =7TfOT BT 713 3kt =T faifare eRm 31T

(a) T (b) Siree (c) Teft (d) T FoaE T
o ferear ATei=ht aReTsT ShioTar S1eg < ?

(a) = (b) s (c) == (d) &=

BRI Y FEei™ TUIAATT 1 STEma ?

(a) TSR TS faer forergun (b) gecial TeraT shTeicl HIFR

(c) A TATIRT (SREETE SR UshHehTd fv[ o SREe e grot

(d) =i TR

T Toha FOTEAT SREE SATYAHT IV TR TATSE ATRuATd Ad

(a) fe= (b) geft (c) dre (d) s

T IR T ‘U’ Siee faetd sgeamn ““u’’ g faeg, saauard I
(a) IR S T (b) IFAU=T fH T (C) IRR U= fHed U8 (d) =t Srorder
e Uy Wie R dewm fordt T stama?

() /= e 1 (b) = el Vs (c) HYv =T st (d) T IR A
T SRS Teh ST GH=A1 WRTIA ST STl Se2qul o1 () Tehal T ST 3G el FeordTa:
(a) T (b) &= (c) &t (d) =t STt AT
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57.

S8.

59.

60.

61.

62.

63.

64.

6S.

66.

67.

68.

69.

70.

71.

TSI [EeHTe SToRugTd AV SIUSTeid & STHT :

(a) o sty e (b) T TR YR

(C) T ATRISIH T (TTea) eFman (d) =it =it e

TSNS (Ttes TTevlt) Tt & fue e -

(a) sfaa fu (b) T (c) frar =iz (d) =t =it AT
(a) = R AT (b) = gafor SATaEH

(c) Eiadicl shTel 39 TUC JTFATH o G 2ThUaT AT

(d) et rorder T

@aﬁsﬁ%aﬁ

(a) T FTEUATETS! AT 2L AT (b) ErfaTaTdt amaTr

(c) faftmardt aruror G ENEEINCHEIR]

AR HicT Tt 318 HISIAT :

(a) e W T (b) #re = fufe (c) e T TR (d) =t ST AT
A VAT JUT=T BTfEcarsit grarei St foreT T Tuehid Id ot vt T8 ?

(a) T @ (b) @ < (c) 3F a1 (d) IR 31

feseli=an afeieTe SidT TS 3180 TaraH 1 3R ¢

(a) =i TS I FrEEUATETS! (b) STt STTEd ShT9L STIROT ITeRT HLUATHTS

(C) SIT=ITT HES AT FHLTATHTS C)ENSEIRCHEI]

Afce a3 Tevar T ygd & R ?

(a) SATTTE iz Atk Jare Hor (b) srerferHe gefaraan emfor wie AT

(c) AT ATt 3fn 3=7 Erees ad (d) i =RivTaEt AT

el gt fefeme o -

(a) 3T BT 9 (b) ST= TTATE 9 (c) g et G EAGEICHEI
3ffe WiheaT &8 TR U :

(a) wrseH (b) reE (c) g (d) 7Te

T SHTIUATHIST ST R ST FEUTATd :

(a) Are (b) &= (c) fer (d) =higcd

3fie Hed fesderuieEme Shivd STTORTH FHTE 314 ?

(a) e ATRIA (b) sifé tfoEm (c) =fem afor Sifém SATReH  (d) St hivrdEl AT
T AR FJeeny Hfefies Trohal ot © o -

(a) wemfeferdt (b) feeeritadt (c) nifraesH (d) it e
gfsrhed el T AR?

(@) =refor speft ahTr (b) =T aET

(c) =rfur Kt qur ATET o 0T e yur Al (d) S HivraE A

A Rl sifsa o1 -

(a) ITTIERE TS (b) TR UTdes (c) Truft (d) =t STt AT
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72.

73.

74.

75S.

76.

77.

78.

79.

80.

81.

82.

83.

84.

8s.

86.

AT A h HARA?

(a) FIEETEd LIaHY 3T 3 T (b) T

Okzis (d) T ForEt A

I e TR FOIHS! THE el A1 v 318 7

() IR AR (b) = TR CEREELS (d) mrgee WA
TSR JFE HIVTCT YohTiel IR AToaTa ?

(a) & (b) fafrm (c) T =for fufeem G EAGEILCHEI]
T Tk Ugd = HIvE (Se) =t e steerdn 3 S71fn g1er 3nfor e areadn o Ht S Ial 3R

(a) ¥ =k (b) ¥t =k (c) Fea F=F (d) =t =p

U TR et 39 WIS (3ardT) LT Ad

(a) FEaTdien (b) Tt (c) T ST (d) S o T
EISA AT Fell TR AT T -

(a) e TR AT ST 3T (b) e STaTe SATaiet! STawer

(C) TEeT=i TSt ST ATHR (d) =iiet TaehTer

EhTT<AT Scle=AT ST o 1&0TaT il Bid SR :

(a) 3= Tt AT qE (b) fred Ter=an 9259 T1& Ged T8ed™

(C) Tt e ATt (d) T FoE

WTefieTdeh! ShIvTd ShIT TS 318 Blsel HHEHT Sieiie T SUITHE!?

(a) HTEA HE AT STe ThHEmeia Y1 STEauaTaTdt

(b) IvR= STEd =TTt TraoT HUITHIST ST i Wrsfor Yeghes TRuTE Huaraa!
(C) TS %g 31O SiTer TeherHeftet srofor Rt shvaraTat

(d) PTEAAT I SHTTIATETS! AT Hedd FH} ATt

A TeTish! vt AUk (SR weas I guifad Amei?

(a) s (b) B e (C) Tehe e (d) =g

TR qvaTd AT eTyd O 1 3R 7

(a) 3 firR T fovm fbtama (b) T4 FrR foeg faeH fheama

(c) 3= (a) aTfr (b) (d) T FoRR T

Tata |7 fHfeiet=n Jem o

() & 2rEy (b) fem 2r3T (c) - manfrfmegy  (d) I FoRE AR
T Hie a7t 2 3T -

(a) TeRe (b) e (c) e (d) Tt F R A
AT T JHITe HHNT TR -

(a) T (b) TeEgER (c) F== (a) =7fir (b) (d) S o T
IIR SFRJYeIed STIaTd et -

(2) SITEd T TTE= Y18 h1gH SIhRUATETa! (b) ST 3Afereh Ty fefeteedt ATaad Savamet

(c) T\ IMYvITETS G ENEEINCHEIR]

T SBieeg ATHAT SIS -

(a) yarer=n fesre fsor svarardt (b) e yaTeT=n fazi froT sRvamEet

(C) HTvaT=aT YeTeT=A TR foreroT shvaradt (d) i =ivTaEt AT
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87.

88.

89.

90.

91.

92.

93.

94.

9s.

96.

97.

98.

99.

100.

TehT ST {Teh ShET=ITd BIdTesvaTd IR Faid GHTT gadered shivd 3778 :

(a) o (b) Troft (c) et (virm Sormr wanef) (dl) =t o AT
aTuft qREeT SuTTet! favmTedt SiTd ““grRae’” foha

(a) TSR (b) TfEn (c) f-TRjafen (d) et Froreh AT
TRIETcTeh fafcreme fiRes e = faedmT RIvrT Turend cefTd SraeT Sial?

(a) SR SERE (b) e wrieh (c) & (d) =T EdeFTEl
gl garered YI=AT Wit AT TdeTd T shed SITd, SR TH 2 :

(a) H BId (b) ared (c) T foha et Bl (d) 0 =it A

T YTHeaR U Sl S3TTT S8 F0TR STTRTd dogl grel i shi0l €T Sl et 7

(a) ST TR I 0 (b) 3Tt el I8 101 (C) ATt @ I ot (d) et Tt AT
= Thar ot ST &I § <1e7Td 39 ¢

(a) St STM0T ATt 3T st el faasia

(b) st @Tfor STt 3TTfon SRl Ymasmeier freeria

(c) sier srfor sRdier anfor arter Tersmefie ey

(d) =i Fror T

Sfereepifues fuferemd e -

(a) PRI SABSR gfe  (b) B A BSR g (o) SR P iR Bs R i (d) Tl gfie
gl YTSTT AT B¢ (HH-UFH ) STeAvTd I, hIoTedT JaTE Gedal TRoms gidr?

(a) SRR vl (b) T=eie v (c) <R sfor et (d) =i T e
S T T Eiceed S 3o YaTg o 4dl, T SRiceandatl IR g :

() FTea (b) = B (c) Farer T (d) S o T
T R ar=n %et S ?

(a) weam Tl (b) A& IR

(c) 3= feeehifrdial ZavaTed amoeaT ara (d) it werehrel

R THITETS! WTeATettish! shivTd o @ie TR 7

(a) =e feoa enifor S Fimefier wqa Huehiges Gush gsamT= faremr
(b) TS 52 THITd ATTETeoAT BTgSTel h1e st fohe sIgetd AdTd
(C) TeaqdBTehR FHRTT el HHITER Taeld] JdTd STEHAIH aT6 FHHT FHOATETS!

C)ENSEICHEI]

AT e IR ToF1 § STHUETS! sheft et 3178 -

(a) Traee feqerate (b) sEiwee feawrade

(c) Tl fhereg i sEiuaet fegmetame CESEEGHEI

wifree (afaeh) 52 TR SRSt 1 7

(a) o HIS= ATgsTe Hifclgd BTdTes ITehaTd (b) o ITH SHHIH TIR & ITehdTd

(c) 3=t (a) 3TfT (b) (dl) =Tt shIoree T

Tt R qrawer STTefie Tosd! Hemge B ¢
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